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: ञञञञ/ञञ/ञञ
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ञञञञञञञञञ ञञञञ ञञञ ञञञञञञञञञ ञञञञञ ञञञञञञञञञञञ ञञञञञञञ ञञञञ ञञञञञञ ञञञञञञ ञञ‌ ञ

ञञञञ ञञञञञ

ञञञञञञञ :
ञञञञ ञञञञ ञञञ ञञञञञञञञञ ञञञञञ ञञञञञञञञञ ञ

ञञञञञञ ञञञञञ ञञञ ञञञञञञञ ञञञञ :-ञञञञञञञञञ ञञञञञ ञञञञञञञञञञ ञ



ञञ
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-
ञञञ ञञ.ञञञञञञञ ञञञञञञञ ञञञञञञ

ञ ञञ ञञञञञ ञञञञञ

 ञञञञञञञ ञञञञञञञञ ञञञञञ ञञञञञञञञञञञ ञञ ञञञञञञ ञञञञ
ञञञञञ ञ -..ञ, ञञञञञ ञञञञञञ:

ञञञञ%ञञ

ञञञञ..01011ञञञञञ ञञ. ञ, 2) ञ": 0.0, | ञ ञञञ

20, )ञ ञञञञञञ ञञञञ ञञञञ,/ञञ/ञ:ञञञञञञञ
ञञञञ, ञञञञ,ञञञञञ ञञञञञञ ञञञ ञञञञञञञ ञञञञञञञ ञञञञञञञञञ, , ञञञञञञञञञञ, ञञञञञञञञ

, 220020000ञञञञ: ञञञञ ञञञञञञञ ञञञञञञञञञ ञञञञञञञञञ ञञञञञञञञञ
ञञञञञञञञञ ञ

ञञ ञञञञञञञञञ ञञञञञञञञञञ ञञञञञ ञञञञञञञञ ञञञञञञ ञञञञञञञ ञञञञञञञञ
"ञञञञ ञञञञञञञ ञञञञञञञञञञञञञञञञञञञञञञञञञ ञञञञञञञञञ" ञञञञञ ञञञञञञञञ ञञञञ, ञञञञञञञञञञञ ञञञञञञ ञञञञञ ञञञञञञ ञञञञञञञ ञञञञञञ ञञञञञञञञञञञञञ ञञञञ ञञञ ञञञञ ञञञञञञ ञञञञञञञ ञञ/ञञ ञञञ ञञञञञञञञञञञ ञञञञञञञञञ ञञञञञञञञञञञञञञ ञञञञञञञञञञञञञञञञ ञञञञञञञञञञ ञञञञ ञञञञ ञञञञञञञञञञञञ ञञञञञञञञञ

ञञञञञञञञ ञञञञञ ञञञञञञञ ञञ ञञञञञञञञञ (ञञञञञञञञ) ञञञञञञ ञञञञ/ञञ%% ,ञञ ञञञञञञञञञञञञ ञञञञञञ ञञ ञञञञ ञञञञ ञञञञञ ञञञञञञञञञञञ ञञञञञञ ञञञञञञञञञञञ ञञञञञ
ञञञञञ ञञञञञ ञञञञञञञञञञञ ञञञञञञ ञञञञञञ ञञञञञञञ ञञञञ ञञञञञञ ञञ

ञञञञ ञञञञ ञञ-ञञञञञञञञञञञञ, ञञञञञञ ञञञञ ञञञञञञ ञञञञञञञञञ, ञञञञञ
ञञञञ

ञञञञञञञ ञञ.ञञ ञञञञञञञञञ, ञञञञञञ ञञञञ ञञञञञञञ ञञञञञञञञञ, ञञञञञञ

ञञञञ ञञञञञ ञञञञञञञञञ, ञञञञञञ
ञञञञ ञञञञञञञञञञञ ञञञञञञञञञञ, ञञञञञ

ञञञञ ञञञञञञञञञञ ञञञञञञञञञ, ञञञञञञ ञञञञ ञञञञञञञञ ञञञञञञञञञ, ञञञञञञ
ञञञञ ञञञञ ञञञञञञञञञञ, ञञञञ

ञञञञ ञञञञञ ञञञञञञञञञ, ञञञ
ञञञञ

ञञञञञञञञ ञञञञञञञञञ, ञञञञ
ञञञञ ञञञञञञञञञ ञञञञञ ञञञञञञञञञ, ञञञञञञञञञ

ञञञञ
ञञञञञञञञञ ञञञञञञञञञञ,

ञञञञञञ ञञञञ ञञञञञञ ञञञञञञञञञञ, ञञञञञञञ

ञञञञ ञञञञञञञञ ञञञञञञञञञञ, ञञञञ ञञञञ ञञञञञञ ञञञञञञञञञ, ञञञञञ
ञञञञ ञञञञञञञ ञञञञञञञञञञ, ञञञञञ ञञञञ ञञञ ञञञञञञञञञञ,

ञञञञञञञञ
ञञञञ ञञञञञञञञञ

ञञञञञञञञञञ ञञञञञञञञञञ, ञञञञञञ

ञञञञञ

ञञञञञञञञञ
ञञञञ ञञञञ: ञञञञ/ञञ/ञञ ञञञञ ञञञञ/ञञ/ञञ ञञञ ञञञञ

ञञञञ ञञञञञ ञञ:ञञ ञञञ
ञ

ञञ
ञञञञञ: ञञञञञञ

04.ञञञञञञञ ञञञञञञञ/ ञञञञञ: ञञञ ञञञञञञञञ ञञ. ञञञञञञ ञञञञञ /ञञञञञञञञञ ञ

ञ (, 20 ञ ञ

ञ 777(ञ.
ञञञ

ञ7... ञञ ञञ

ञञञञ ञञञञञञञ

ञञञञञञ ञञञञ ञञञञ ञञञञञञञ

ञञञञञञञञञ:

ञञञञ ञञञञञ ञञञञञञञञ ञञञञञ ञञञञञञ ञञ



ञञञ ञञ.ञञञञञञञ ञञञञञञञ ञञञञञञ

_

ञञञञञ ञञञञञ

ञञञञ ञञञ ञञञञञञञञ ञञञञञ ञञञञञञञञञ

ञञञञ ञञञञञञ: ञञञञ/ञञ
ञञञञञ ञञ. ञञ,

ञञञञ ञञञञ/ञञ,/ञ:ञञ
ञञञञञञ ञञञञ ञञञञञञञ ञञञञञञञ ञञञञञञञञञ,

ञञञञञञञञञ, ञञञञञञञञ

ञ
ञञञञञ

ञञञञ ञञञञञञञ ञञञञञञञञञ ञञञञञञञञञ ञञञञञञञञञ ञञञञञञञञञ |

ञञ ञञञञञञञञञ ञञञञञञञञञञ ञञञञञ ञञञञञञञञ ञञञञञञ ञञञञञञञ ञञञञञञञञ "ञञञञ ञञञञञञञ ञञञञञञञञञ ञञञञञञञञञ

ञञञञञञञञ ञञञञञञञञञ" ञञञञञ ञञञञञञञञ ञञञञ, ञञञ ञ ञञञञञञञ ञञञञञञ ञञञञञ ञञञञञञ ञञञञञञञ ञञञञञञ ञञञञञञ
ञञञञञञञ ञञञञ ञञञ ञञञञ ञञञञञञ ञञञञञञञ ञञ/ञञ ञञञ ञञञञञञञञञञञ ञञञञञञञञञ ञञञञञञञञञञञञञञ ञञञञञञञञ
ञञञञञञञञ ञञञञञञञञञञ ञञञञञ ञञञञ ञञञञञञञञञञञञ ञञञञञञञञञ ञञञञञञञञ ञञञञञ ञञञञञञञ ञञ ञञञञञञञञञ (ञञञञञञञञ) ञञ
ञञञञ ञञञञ/ञञ%ञञञ ञञञञञञञञञञञञ ञञञञञञ ञञ ञञञञ ञञञञ ञञञञञ ञञञञञञञञञञञ ञञञञञञ ञञञञञञञञञञञ ञञञञञ

ञञञञञ ञञञञञ ञञञञञञञञञ ञञञञञञ ञञञञञञ ञञञञञञञ ञञञञ ञञञञञञ ञञ

ञञञञ
ञञञञ ञञञञञञञञञ, ञञञञञ ञञञञ

ञञञञञञञञञ ञञञञञञञञञ, ञञञञञञञञञ

ञञञञ ञञञञञञञञञ ञञञञञञञञञञ, ञञञञञञ ञञञञ ञञञञञञ ञञञञञञञञञ, ञञञञञञञञञ

ञञञञ ञञञञ ञञञञञञञञञञ, ञञञञ ञञञञ ञञञञञञञञञञ ञञञञञञञञञ, ञञञञञञञञञ

ञञञञ ञञञञञ ञञञञञञञञञ, ञञञञञञञञञ ञञञञ ञञञञञञ ञञञञञञञञञञ, ञञञञञञ

ञञञञ ञञञञञ ञञञञञञञञञ, ञञञञञ ञञञञ ञञञञञञञञञञञ ञञञञञञञञञ, ञञञञञञञञञञ

ञञञञ ञञञञञञञञञञ ञञञञञञञञञञ, ञञञञञञञञञ ञञञञ ञञञञञञञञ ञञञञञञञञञञ, ञञञञञञञञञञ

ञञञञ ञञञञञ ञञञञञञञञञ, ञञञञञ ञञञञ ञञञञञञञ ञञञञञञञञञञ, ञञञञञञ

ञञञञ ञञञञञञ ञञञञञञञञञ, ञञञञञञ ञञञञ ञञञञञ ञञञञञञञञञ, ञञञञञञ

ञञञञ ञञञञञ ञञञञञञञञञ, ञञञञञञञञञ
.

ञञञञ
ञञञञञ ञञञञञञञञञ, ञञञञञञञ

ञञञञ ञञञञञ ञञञञञञञञञञ, ञञञञञञञञञ ञञञञ ञञञञञञञञञञ ञञञञञञञञञ, ञञञञञञञ

ञञञञञ

ञञञञञञञञञ ञञञञ ञञञञ: ञञञञ/ञञ/ञञ ञञञञ ञञञञ/ञञ/ञञ ञञञ ञञञञ
(ञञञञ: ञञञञञ ञञ:ञञ ञञञ ञञञञञञञञ ञञञञञ ञञञञञञञ

ञञञञञञञ/ञञञञञञ ञञञ ञञञञञञञञ, ञञञञञञ ञञञञञ/ ञञञञञञञञञञञ

ञ2:ञञ0ञ ञ.2
ञञञञ ञञञञञञञ

ञञञञञञ ञञञञ ञञञञ ञञञञञ

ञ» ञञ



ञञञ ञञ.ञञञञञञञ ञञञञञञञ ञ ञञञञञ

ञञञञञ ञञञञञ

ञञञञ ञञञ ञञञञञञञञ ञञञञञ ञञञञञञञञञ

ञञञञ ञञञञञञ: ञञञञ/ञञ
ञञञञञ ञञ. ञ0

ञञञञञञञञ,
ञञञञ ञञञञ/ञञ/ञञञञ ञञञञञञ ञञञ ञञञञञञञ ञञञञञञञ ञञञञञञञञञ,

,
ञञञञञञञञ

ञञञञ: ञञञञ ञञञञञञञ ञञञञञञञञञ ञञञञञञञञञ ञञञञञञञञञ ञञञञञञञञञ |

ञञ ञञञञञञञञञ ञञञञञञञञञञ ञञञञञ ञञञञञञञञ ञञञञञञ ञञञञञञञ ञञञञञञञञ "ञञञञ ञञञञञञञ ञञञञञञञञञ ञञञञञञञञञ

ञञञञञञञञ ञञञञञञञञञ" ञञञञञ ञञञञञञञञ ञञञञ, ञञञञञञञञञञञ ञञञञञञ ञञञञञ ञञञञञञ ञञञञञञञ ञञञञञञ ञञञञञञ
ञञञञञञञ ञञञञ ञञञ ञञञञ ञञञञञञ ञञञञञञञ ञञ/ञञ ञञञ ञञञञञञञञञञञञ ञञञञञञञञञ ञञञञञञञञञञञञञञ ञञञञञञञञ
ञञञञञञञञ ञञञञञञञञञञ ञञञञ ञञञञ ञञञञञञञञञञञञ ञञञञञञञञञ ञञञञञञञञ ञञञञञ ञञञञञञञ ञञ ञञञञञञञञञ (ञञञञञञञञञ ञञ
ञञञञ ञञञञ/ञञ%ञ..ञञ ञञञञञञञञञञञञ ञञञञञञ ञञ ञञञञ ञञञञ ञञञञञ ञञञञञञञञञञञ ञञञञञञ ञञञञञञञञञञञ ञञञञञ

ञञञञञ ञञञञञ ञञञञञञञञञञञ ञञञञञञ ञञञञञञ ञञञञञञञ ञञञञ ञञञञञञ ञञ

ञञञञ
ञञञञञञ ञञञञञञञञञ, ञञञ ञञञञ ञञञञ, ञञञञञञ

ञञञञ ञञञञञञञ ञञञञञञञञञ, ञञञ ञञञञ ञञञञ, ञञञञञञञञञञ

ञञञञ
ञञञञञञञञञञ ञञञञञञञञञ, ञञञञञञ

ञञञञ ञञञञञञञञञञञञ ञञञञञञञञञ, ञञञञञ

ञञञञ ञञ.ञञञञञञञञञञञञ, ञञञञञञ
ञञञञ ञञञञञञञ ञञञञञञञञञञ,

ञञञ ञञञञ ञञञञ, ञञञञञञ

ञञञञ ञञञञञञञञ ञञञञञञञञञ, ञञञञञञ ञञञञ ञञञञञञञञञञ ञञञञञञञञञ, ञञञ ञञञञ ञञञञ, ञञञञञञञ
ञञञञ ञञञञञञ ञञञञञञञञञ, ञञञञञञञञञ ञञञञ ञञञञञञञञ ञञञञञञञञञञ, ञञञ ञञञञ ञञञञ, ञञञञञञञ

ञञञञ ञञञञञञञञ ञञञञञञञञञ, ञञञञञञ ञञञञ ञञञञञञञञञ ञञञञञञञञञ, ञञञ ञञञञ ञञञञ ञञञञञञञञञञ

ञञञञ ञञञञञ ञञञञञञञञञञ, ञञञ ञञञञ ञञञञ, ञञञञञञञञञ ञञञञ ञञञञञञञ ञञञञञञञञञ, ञञञ ञञञञ ञञञञ, ञञञञञञञञ
ञञञञ ञञञञञञञञ ञञञञञञञञञञ,

ञञञ ञञञञ ञञञञ ञञञञञञञञञ ञञञञ ञञञञञञञञञञञ ञञञञञञञञञञ,
ञञञ ञञञञ ञञञञ, ञञञञञञ

ञञञञ ञञञञञञञ ञञञञञञञञञ, ञञञ ञञञञ ञञञञ ञञञञञञञञञ

ञञञञञ

ञञ
ञञञञञञञञञ ञञञञ ञञञञ: ञञञञ/ञञ/ञञ ञञञञ ञञञञ/ञञ/ञञ ञञञ ञञञञ

ञञञञ ञञञञञ ञञ:ञञ ञञञञञ

ञञञञञञ ञञञञञ ञञञञञञञ ञञञञञञञ/ ञञञञञञ ञञञ ञञञञञ ञञञञञञ, ञञञञ
ञञञञञञ ञञञञञञ/ ञञञञञञञञ ञञञञ

ञञञञ ञञञञञञञ

ञञञञञञ ञञञञ ञञञञ ञञञञञ

ञञञञञञञञञ:

ञञञञ ञञञञञ ञञञञञञञञ ञञञञञञ ञञञञञञञ ञञञञञञ, ञञञञञञञञ ञञञञञञ ञ



ञञञञञ ञञञञञ

ञञञञ ञञञञञञ: ञञञञ/ञञ
ञञञञञ ञञ. &6[0

ञ)
ञञञञञ ञञ

0,011 ञञञञञञञञ

ञञञञञञञञ,
ञञञञञ2ञञञञञञ ञञञ ञञञञञञञ ञञञञञञञ ञञञञञञञञञ,

ञञञञञञञञञ, ञञञञञञञञ
ञ

ञञञ ञञ.ञञञञञञ ञ ञञञञञञञ ञञञञञञ

ञञञञ ञञञ ञञञञञञञञ ञञञञञ ञञञञञञञञञ

ञञञञ ञञञञ/ञञ)ञ ञ

ञञञञ: ञञञञ ञञञञञञञ ञञञञञञञञञ ञञञञञञञञञ ञञञञञञञञञ ञञञञञञञञञ |

ञञ ञञञञञञञञञ ञञञञञञञञञञ ञञञञञ ञञञञञञञञ ञञञञञञ ञञञञञञञ ञञञञञञञञ
"ञञञञ ञञञञञञञ ञञञञञञञञञ ञञञञञञञञञ

ञञञञञञञञ ञञञञञञञञञ" ञञञञञञञ ञञञञञञञञ ञञञञ, ञञञ ञ ञञञञञञञ ञञञञञञ ञञञञञ ञञञञञञ ञञञञञञञ ञञञञञञ ञञञञञञञञञञञञञ ञञञञ ञञञ ञञञञ ञञञञञञ ञञञञञञञ ञञ/ञञ ञञञ ञञञञञञञञञञञञ ञञञञञञञञञ ञञञञञञञञञञञञञञ ञञञञञञञञ
ञञञञञञञञ ञञञञञञञञञञ ञञञञ ञञञञ ञञञञञञञञञञञञ ञञञञञञञञञ

ञञञञञञञञ ञञञञञ ञञञञञञञ ञञ ञञञञञञञञञ (ञञञञञञञञञ ञञञञञञ ञञञञ/ञञ/,ञञ ञञञञञञञञञञञञ ञञञञञञ ञञ ञञञञ ञञञञ ञञञञञ ञञञञञञञञञञञ ञञञञञञ ञञञञञञञञञञञ ञञञञञ
ञञञञञ ञञञञञ ञञञञञञञञञ ञञञञञञ ञञञञञञ ञञञञञञञ ञञञञ ञञञञञञ ञञ

ञञञञ ञञञञञञञञञञ ञञञञञञञञञञ, ञञञञञ

ञञञञ ञञञञञञञञ ञञञञञञञञञ, ञञञञञञ

ञञञञ ञञञञञ ञञञञञञञञञञ,
ञञञञञञञञ

ञञञञ ञञञञञञञ ञञञञञञञञञ, ञञञञञ

ञञञञ ञञञञ ञञञञञञञञञ, ञञञञञ

ञञञञ
ञञञञञञ ञञञञञञञञञञञञञञ,ञञञञञ

ञञञञ ञञञञञञञ ञञञञञञञञञ, ञञञञञञ

ञञञञ ञञञञञञञञञ ञञञञञञञञञञ,
ञञञञञञञञ

ञञञञ ञञञञ ञञञञञञञञञञ, ञञञञञञ

ञञञञञञ

ञञञञञञञञञ
ञञञञ ञञञञञ ञञञञ/ञञ/ञञ ञञञञ ञञञञ/ञञ/ञञ ञञञ ञञञञ :

ञञञञ ञञञञञ ञञ:ञञ ञञञ

ञञञञञञ ञञञञञञञञ

ञञञञञञञ ञञञञञञञ/ ञञञञञञ ञञञ ञञञञञञञञ, ञञ. ञञञञञञञञञ ञञञञञ/ ञञञञञ ञञञञञ

ञञञञञञञञञ;

ञञञञ ञञञञञ ञञञञञञञञ ञञञञञञ ञञञञञञञ ञञञञञञ,ञञञञञञञञ, ञञञञञञञञ

ञञञञ ञञञञञञञ

ञञञञञञ ञञञञ ञञञञ ञञञञञ


